NnA-91

0
G
T
0
Ne CrypeHT KYPC e
=)
£ Cepeaiit
5 epen
ban
1|bpaunascbKka J1.B. 1 152|MA-91 93,667
3|3aBanictnin M.I. 1 152|0A-91 80,889
4|KpasyeHko K.O. 1 152|MNA-91 90,000
5|Kynikos .E. 1 152|MNA-91 85,222
8|HikonaeHko [.0. 1 152|MNA-91 79,889
n6-91
G
T
0
Ne CryaeHT KYPC _E ]
z CepepHin
=
o ban
1{AHgpees C.M. 1 151|{Nb-91 72,000
2|bepesHiubkmin H.O. 1 151|NB6-91 73,250
3|by6HoB H0.0. 1| 151|NB-91 71,875
5|AmutpeHko C.A. 1 151|NB-91 87,250
6|AMunTPYK K.M. 1 151{Nb-91 86,875
7|3BuyaitHnin A.P. 1 151|NB6-91 77,750
8|3emnanmn [.C. 1| 151|NB-91 96,625
9|Kykow P.A. 1 151{Nb-91 95,250
10|OKctoTeHKo O.B. 1 151|Nb-91 87,750
11{Mokposa .M. 1 151({Nb-91 85,625
12|PyakoBcbkuit |.E. 1| 151|NB-91 82,000
13(CtoporkeHKo B.B. 1 151{Nb-91 90,000
14{CyxoHocos B.E. 1| 151(nB-91 67,375
15| Trkyk A.10. 1 151({Nb-91 96,375
18|AKnmeHKo O.M. 1 151({NB-91 96,500
nB6-92
G
T
o]
Ne CrypeHr KYPC _E 2
a CepepHin
5 ban
1|EdpemeHtok K.B. 1| 151|NB-92 92,625
2|AciHos €E.C. 1 151({NB-92 75,500
3|BacunbyeHkKo €.B. 1 151|NB-92 81,375
6|Qyra C.O. 1 151{Nb-92 89,125
7|KpnHunupbKum M.K. 1 151|NB6-92 85,875
9{MwukoneHko M.O. 1 151({NB-92 75,625




10{Mwup3a A.C. 1| 151({nB-92 82,500
11|HecTtepeHKo A.B. 1 151|NB-92 92,625
12|MNaweHkKo l.A. 1 151|Nb-92 94,000
13|Mpumack B.I. 1 151|N6-92 93,625
14(CaB4yeHKko [.A. 1 151{Nb-92 83,500
15|Centok A.C. 1 151({Nb-92 90,500
16(Cnagopuyk A.HO. 1 151|{Nb-92 78,000
17| Typuk A.l. 1| 151{nB-92 96,125
18|LLlabanpac B.I. 1| 151|NB-92 79,875
n6-n91
G
T
n
Ne CrypeHr KYPC _E Q
]
=
o
1|AHTOHIWaK I.C. 1 151({NB-n91 85,364
nB-91
0
G
T
n
Ne CrypeHT KYPC e
=
£ Cepeaiit
5 epea
ban
2|Qysapos A.B. 1 152({NB-91 84,556
3|3apemba A.H. 1 152|NB-91 67,222
4{Ko3sauok A.O. 1 152({NB-91 84,333
5|KopHieup 0.0. 1 152(NB-91 82,444
6/|Mwuxaitnos €.B. 1 152|NB-91 79,111
7|0npsa b.€. 1 152|nB-91 71,111
10| Tennuko P.C. 1 152|NB-91 92,444
12| lynbra M.B. 1 152(NB-91 82,778
nr-91
G
T
¥
Ne CrypeHt KYPC _E 2
3 CepepHin
=
o ban
2|Abayxamigos P.T. 1 151|0r-91 78,250
3|banaHuyk I.A. 1 151|nr-91 72,125
5|ManywkKo B.O. 1 151|0r-91 81,375
6|/lanbyeHko 4.A. 1 151|nr-91 96,125
8| O*kunkBac [.B. 1 151|0r-91 78,500
9|QynapeHko B.O. 1 151|0r-91 75,375
11{KyniHiy B. 4. 1 151|0r-91 76,500




13|Manaxos €.B. 1 151({nr-91 95,000
14(Monna K.E. 1 151({nr-91 85,375
15|06pycHik A.B. 1| 151|0r-91 81,250
16|MasntoyeHKo B.B. 1 151|0r-91 89,875
18(CipeHb E.C. 1 151|0r-91 88,625
19|CKopumK E.B. 1 151({nr-91 84,375
21|Cnisak C.B. 1 151|0r-91 93,125
23(Tpenayb |.M. 1 151|0r-91 74,625
nr-n91
0
G
T
0
Ne CrypaeHT KYPC 3
=)
(]
&
CepepHin
ban
NK-91
G
T
]
Ne CrypeHt KYPC _E 2
] CepepHin
[ =
o ban
1{AkyneHko O.C. 1| 151|{NK-91 92,625
2|be3Bepxuit E.B. 1 151(NK-91 69,875
3|KacAaH4umK €.A. 1 151|NK-91 67,875
8|Muxannerko A.0. 1 151(NK-91 69,750
9|HoBoxunnosa A.B. 1 151|NK-91 84,125
10|0OBcAaAHiKoB O.0. 1 151|NK-91 91,875
11|OHonpieHKo B.®. 1| 151({NK-91 70,125
13|NiTtyx 1.0. 1 151|NK-91 87,125
15|MaHacko A.B. 1| 151({NK-91 69,750
16|MoBanbuyK A.B. 1 151|NK-91 66,500
20{YapHow A.l. 1 151|NK-91 79,750
nm-91
G
T
]
Ne CrypeHTt KYPC _E 2
] CepepHin
=
o ban
6|/[anoHos [1.0. 1 151/NM-91 80,750
10{['yTapesiy A.A. 1 151/NM-91 80,500
11) leHuncos B.C. 1 151/NM-91 83,125
13|KoHoBan B.B. 1 151/NM-91 74,000




15{ManaweHko A.C. 1 151|NM-91 72,125
16|HecTepyK E.I. 1 151|NM-91 87,875
17|Nipbyubkuin M.IHO. 1 151(NM-91 82,500
nM-n91
5]
T
]
Ne CrypeHr KYPC _E ]
] CepepHin
=
) ban
2[|Ha3apeHKo A.O. 1 151|NM-n91 93,727
3|CaB oK B.C. 1 151(NM-n91 91,364
4|Tecnenko [.B. 1 151|NM-n91 87,545
nNH-91
]
G
T
i)
Ne CrypaeHT KYPC 3
=
f:’ C .o
5 epegHiun
ban
2|lonyb6eB B.A. 1 152|MH-91 77,000
3[*Knakos B.B. 1 152|MNH-91 89,222
4|KucenboBa K.A. 1 152|MNH-91 85,111
7|Hocosa HO.B. 1 152|MNH-91 95,333
9|MyKiw M.P. 1 152|NH-91 79,667
10(PoxKKos B.B. 1 152|MH-91 83,333
11{CamoineHKko M.M. 1 152|MNH-91 75,778
12|Cenpeubka K.C. 1 152|MH-91 89,222
14|Lensar B.I. 1 152(MH-91 85,889
MH-n91
.}
G
T
]
Ne CrypeHTt KYPC 3
=)
‘1:-’ C .o
5 epeaHin
ban
no-91
5]
T
]
Ne CryaeHt KYPC | & o
a CepepHin
5

ban




1|boHpgapeHko [.0. 1 151|N010-91 65,375
4{Tonunk B.O. 1 151|N10-91 88,625
5|JaHnnbyenko 4.10. 1 151|n0-91 75,125
7[3anizHak M.I. 1 151{N0-91 66,625
8|KaniHin A.1. 1 151|/N00-91 68,250
9/Koctenko [.C. 1 151{N0-91 93,000
11{/1aBpeHtoK .M. 1 151|N10-91 80,750
12|J/lncayeHko €.l. 1 151{N0-91 87,000
13|HosikoB .M. 1 151{N0-91 90,375
17| lnHKapbos .. 1 151{N0-91 93,875
18|AueHko A.O. 1 151{N0-91 94,625
no-n91
G
T
o]
Ne CrypeHr KYPC _E o
a CepepHin
=
(@) ban
1|binokonutos A.C. 1 151{N0-n91 90,750
2| AMmnTpyK A.A. 1 151{N0-n91 77,875
3|MenbHunuyK C.B. 1 151{N0-n91 82,500
NnA-81
0
G
T
0
Ne CrypeHr KYPC e
=
(]
: (3>
o CepeaHiu
ban
1]Angpees B.B. 2 152|NA-81 91,889
3|Kopenb P.T. 2 152|NA-81 77,778
4{KyniyeHko B.B. 2 152(NA-81 97,444
5|KyHuubKuin €.M. 2 152|NA-81 67,333
7|HaymoBcbkuit A.A. 2| 152(NA-81 95,778
8[MNoTieHko P.O. 2 152(NA-81 77,333
9|TKayeHKo A.V. 2 152(NA-81 81,333
10|Yepracbkui C.C. 2 152|NA-81 78,111
Nnb6-81
0
G
T
0
Ne CrypeHT KYPC 3
=
o c -
5 epeaHiun
ban
2|lopbaTteHKko T.C. 2 151|N6-81 90,333
4| Kyk A.B. 2 151|NB-81 89,889
5|KonicHnuerko 4.0. 2 151|NB6-81 92,000
6| KoHapaTioK A.O. 2 151|NB6-81 98,333
10{MaHaposcbKa C.O. 2 151{Nb-81 94,111




12[MaTtowwuH O.B. 2 151({Nb6-81 98,444
14{MenbHUYyK b.I1. 2 151(NB6-81 94,778
15([Mpuxoabko I.0. 2 151(NB-81 80,778
17({Myray A.C. 2 151(NB6-81 82,111
18| PagyeHko H0.[. 2 151({Nb6-81 89,333
21|CtapyHcbka A.B. 2| 151|N6-81 93,444
n6-82
]
G
-
Ne CrypeHr KYPC e
=
o CepepHin
o Ban
1|baTtania b.O. 2 151|NB6-82 96,250
2|bypKoBcbKuin €.0. 2 151(NB-82 95,000
3({Aynnsak 1.0O. 2 151(NBb-82 93,750
5/KocTiH A.0. 2 151({Nb-82 89,125
6(/lepses A.B. 2 151(NB-82 89,375
7[MyxinH B.B. 2 151|NB6-82 92,750
9[PoroHikos P.A. 2 151({Nb6-82 91,000
11{TepeweHKo B.B. 2 151(NB-82 96,875
12| Wyp M.C. 2 151({Nb-82 98,375
13[FOxnmeHKo H0.A. 2 151(NB-82 91,875
14|AKobuyK €.O. 2 151(NB-82 94,250
Nb6-n81
]
G
-
Ne CrypeHTt KYPC 2
=)
o c -
5 epeaHin
ban
NnB-81
.}
G
-
Ne CrypeHTt KYPC 3
=)
)
: -
O CepepgHin
ban
2|binbyyk H.O. 2 152({NB-81 86,000
3[da4yeHKko H.A. 2 152|NB-81 89,556
4|MasnoyveHKo A.C. 2 152|NB-81 89,778
5/YepeBaTiok A.0. 2 152|NB-81 84,778
6|lLlanosanos [.C. 2 152(NB-81 87,333
7[lWectak O.A. 2 152|NB-81 99,556




nr-8i

]
G
T
i)
Ne CryaeHT KYPC 2
=
Q
5
CepepHin
ban
3|lerenbcbkuint O.B. 2 151|0r-8i 94,444
7| daHnneHKko A.B. 2 151|Nr-81 87,000
9|KoponeHko A.P. 2 151|Nr-81 96,667
11{MwuxaininoscbKuii B.B. 2 151|0r-81 90,389
12|HakopuK B.B. 2 151|Nr-81 97,889
14|MaBneHko J1.10. 2 151|Nr-81 81,556
17|CamomneHko C.B. 2 151|0r-81 91,111
19|Xmuposa A.P. 2 151(MNr-81 90,333
20(YepHeHKo B.I. 2 151(MNr-81 89,111
nr-n81
.}
G
T
]
Ne CryaeHT KYPC 2
=)
)
G
CepepHin
ban
1|bigHwnkK A.C. 2 151{Nr-n81 95,556
2|babeHko M.B. 2 151|Nr-n81 93,667
4|CkipyeHko O.A. 2 151|Nr-n81 97,000
NK-81
.}
G
T
]
Ne CrypeHr KYPC 3
=)
)
: -
o CepeaHiu
ban
1|lcapyeHKo b.0O. 2 151|NK-81 86,700
3|Ay6oseubkumin K.1. 2| 151|NK-81 85,300
4{3abonyesa M.HO. 2 151|NK-81 92,300
5| KopHinyyK E.I. 2 151|NK-81 87,400
9|/leckoBeupb b.B. 2 151|NK-81 88,700
12|MNagin M.O. 2 151|NK-81 89,100
13({[Monbuia €.A. 2 151|NK-81 90,500




14{Mpuxoabko A.B. 2 151(NK-81 96,000
18| lWKiHaep I.C. 2 151|NK-81 91,000
19|KOpyeHKo A.l. 2 151|NK-81 90,400
nwv-81
5]
T
]
Ne CrypeHt KYPC | & o
q:Jr CepepHin
=
o ban
1|IBactoK K.M. 2 151({NM-81 93,778
4| dasuaeHKo b.l. 2 151({NM-81 75,333
9|KpaByeHko A.O. 2 151({NM-81 91,889
12[Hekpacosa 0O.0. 2 151({NM-81 92,778
13({[Meub O.B. 2 151({NM-81 81,778
14|PyaeHko M.C. 2 151|NM-81 81,444
15/CeHb B.B. 2 151({NM-81 90,556
NM-n81
]
G
T
i)
Ne CrypeHr KYPC e
=
Q
(=
o
CepepHin
ban
3[/lncenko M.[. 2 151|NM-n81 86,727
NH-81
.}
G
T
]
Ne CrypeHr KYPC 2
=)
ﬂc-’ C .o
5 epeaHin
ban
2[Ma3ypeHKo A.VI. 2 152|MNH-81 85,800
3[MacHeHKo M.B. 2 152|MH-81 82,200
4 Mukntedko M.J1. 2 152|MNH-81 80,100
6/|0aHopor O.B. 2 152(MH-81 94,700
8[PomaHeHKo A.1O. 2 152|MNH-81 91,500
10| lonyabKo K.A. 2 152({MNH-81 98,800
11{ApemKo B.B. 2 152|MH-81 80,700

MH-n81




CneuianbHicr
b

Ne CrypeHr KYPC
CepepHin
ban
no-8i
]
G
T
i)
Ne CrypeHr KYPC e
=
Q CepepHin
o Ban
1|€pecbko B.O. 2 151(N0-81 90,500
2|baTi B.E. 2 151|N00-81 78,375
3|bytynan |.0O. 2 151(N0-81 78,250
4|BuxpucTioK P.O. 2 151(N0-81 82,625
5| nasaubkuin O.1. 2 151(N0-81 69,625
7|KayaH O.A. 2 151(N0-81 62,625
8|Katomos A.A. 2 151(N0-81 86,750
9|KokyLko b.0. 2 151(N0-81 75,375
11{Macnosa C.M. 2 151(N0-81 93,000
12|Mypasiios M.B. 2 151(N0-81 83,375
13|HeBmepkuubkmin O.11. 2| 151(no-81
75,625
14|PomaHuyk A.J1. 2 151(N0-81 73,250
15(YnbaHos O.B. 2 151(N0-81 92,875
16/ XapeHKo €.M. 2 151(N0-81 75,500
17|XpaHoBCcbKui |.A. 2 151(N0-81 87,500
18(KOpy4ak B.I. 2 151(N0-81 82,500
BA-71
]
G
T
i)
Ne CrypeHr KYPC e
=
Cl:J C .o
5 epegHin
ban
1|binoHor A.C. 3 152|BA-71 71,625
2|bepe3a B.P. 3 152(BA-71 83,750
3[Kapamuwes A.0. 3 152|BA-71 76,250
4|Kybpak M.B. 3 152(BA-71 81,500
5/JTikapeHKo B.4. 3 152|BA-71 75,500
6/Manbues /[1.B. 3 152|BA-71 98,125
7|MapumnHeHko M.0. 3 152(BA-71 71,250
8|OnaHaceHko 0.0. 3 152(BA-71 79,250
9|CemeHoB I'.0. 3 152|BA-71 75,875
10{CmonbAHIHOB B.I. 3 152|BA-71 71,250
11| Xapu4yk H.C. 3 152|BA-71 86,250
12| XoHAaychb E.K. 3 152|BA-71 78,875




BB-71

0
G
5
Ne CrypeHT KYPC 3
5 CepeaHiu
ban
1|1BawieHKo A.B. 3 152|BB-71 92,143
2|bynasko H.O. 3 152|BB-71 96,286
4{lhagyH A.l. 3 152(BB-71 90,429
5|THigeHKo M.J1. 3 152(BB-71 89,714
6|JaueHko M.B. 3 152|BB-71 89,286
7[Makapos [.0. 3 152|BB-71 86,571
8|Mariok [.1. 3 152(BB-71 88,857
9[MunkoneHko M.B. 3 152(BB-71 79,429
11|Monpwuro A.J1. 3 152|BB-71 92,000
12|CapmeB H.-. 3 152(BB-71 72,857
n6-71
0
G
5
Ne CrypeHT KYPC 3
5 CepeaHiu
ban
1|bansakiHa O./1. 3 151|NB-71 96,875
4{Tanpan B.A. 3 151|N6-71 95,375
5/laubko M.B. 3 151|Nb6-71 96,125
6/Kpas4yeHko O.C. 3 151|Nb6-71 96,500
7|Kynukiscbkui O.B. 3 151|n6-71 96,625
9[MNaHKpaTOB E.B. 3 151|N6-71 87,625
10{PomaHeHKo K.A. 3 151{Nb-71 96,000
11|Cipow B.O. 3 151{Nb-71 97,375
14{CabpeHko B.B. 3 151({Nb-71 92,625
18/4urpiH O.B. 3 151|N6-71 98,125
20({lnan A.€. 3 151|N6-71 86,125
nr-71
0
S
5
Ne CryaeHr KYPC 3
] .
5 CepeaHiu
ban
2|Benunyko C.M. 3 151{nr-71 85,286
3|BonowunH O.C. 3 151{nr-71 90,571
4{'paginb E.I. 3 151|Ar-71 80,429
7|NanTyweHKo A.O. 3 151|0r-71 93,857
10|My3unka A.C. 3 151{nr-71 93,286
13|PeBa T.0O. 3 151{nr-71 93,000




18(LLlenemaxa B.B. 3 151(Nr-71 90,143
19(AKoBeHKO B.A. 3 151({Nr-71 92,143
NnK-71

]

G

T

i)

Ne CrypeHr KYPC e

=

Q
: (3>
o CepeaHiu

ban
1|AnocTtonos B.P. 3 151(NK-71 84,875
2|bepanyescbknin [.B. 3| 151(0K-71 91,500
3 I§aH,u,>Kypa A.P. 3 151({NK-71 88,250
4{WNipry I'.A. 3 151({NK-71 72,000
5|Kotno8 [1.€. 3 151{NK-71 95,375
6|Manbko B.I1. 3 151|NK-71 94,625
7|Mamuyp H.[. 3 151|NK-71 90,125
8|MenbHUK A.B. 3 151|NK-71 94,250
9(MuncHunuyeHko M.A. 3 151|NK-71 72,250
10{HakoHeyHa A.B. 3 151(NK-71 93,250
11|HakoHe4yHun M.B. 3 151(NK-71 86,250
12[HuKHUK 0. M. 3 151(NK-71 82,750
13|Pabkos C.O. 3 151(NK-71 76,750
14(Cknapgumkos |.0. 3 151(NK-71 97,000
15(CteweHko A.B. 3 151(NK-71 89,375
16(TaneubKa B.A. 3 151(NK-71 96,000
17(Tpoutok K.M. 3 151(NK-71 96,875
nm-71

]

G

T

i)

Ne CrypeHT KYPC 3

=

Q

(=

o
CepepHin

ban

1|boHpgap M.C. 3 151({NM-71 79,556
4|Knoyko O.C. 3 151({NM-71 93,778
5|Konomieupb K.C. 3 151({NM-71 94,000
11{CagyeHKo B.M. 3 151({NM-71 94,000
14| Xinnk O.A. 3 151({NM-71 91,222
16(Apowescbka O.C. 3 151({NM-71 85,778

no-71




CneuianbHicTb

Ne CrypeHr KYPC
CepepHin
ban
2{I13aToB P.A. 3 151|N10-71 79,875
3[lcaes B.B. 3 151|N10-71 74,750
4|Binnk M.C. 3 151(N0-71 67,625
5[Bacuabyyk €.0. 3 151|N10-71 97,250
6([anentokKa |.C. 3 151|N10-71 79,375
7|KopHes [1.B. 3 151|N10-71 88,750
8| KpuxkHin A.l. 3 151|00-71 87,750
9(apin O.E. 3 151(N0-71 76,750
10{/InHHKK K.B. 3 151|N10-71 97,625
11{[MTonakosa D.0. 3 151|N10-71 98,250
12|MpocKypiH B.C. 3 151(N0-71 75,500
13(CaB4yeHko C.[. 3 151|N10-71 72,000
14|Ckopobaratbko M.B. 3| 151(no-71 74,875
15| TaHyyK B.C. 3 151|010-71 93,500
16(TecneHKo B.A. 3 151|010-71 90,625
17|XpabaH A.A. 3 151|N00-71 89,625
18| XyToposun I.T. 3 151|N00-71 77,375
ni-91mn
]
G
T
]
Ne CrypeHr KYPC 2
=)
)
G
CepepHin
ban
MNA-91mn
.}
G
T
]
Ne CrypeHr KYPC 3
=)
)
: -
o CepeaHiu
ban
1{Bonoaapcbkmin B.A. 5/ 152(NA-91mn 87,300
2| fixTapeHko b.P. 5 152|NA-91mn 75,700
4|MasanwinH M.I. 5 152|NA-91mn 78,000
5|Momunyiiko A.A. 5 152|NA-91mn 84,100
6|CemeHko .M. 5 152|NA-91mn 78,900
7|CRypcbkuin M.C. 5 152|NA-91mn 75,200
9|TokapeHko O.B. 5 152 (NA-91mn 76,800
10{Xomwuny B.O. 5 152(NA-91mn 80,100




Nb6-91mn

]
G
T
i)
Ne CryaeHT KYPC 2
=
Q
5
CepepHin
ban
1JAngpyuwko O.1. 5 151|NB6-91mn 86,889
3|fonogHum O.C. 5 151|06-91mn 78,778
6/3atyneHko A.C. 5 151|NB6-91mn 86,889
10|KoBeHs B.M. 5 151|NB6-91mn 78,778
13| MacteHko |.B. 5 151(NB6-91mn 77,444
15|CopounHcbkui A.4. 5/ 151(NB-91mn 91,667
Nb6-92mH
.}
G
T
]
Ne CryaeHT KYPC 2
=
(]
G
CepepHin
ban
1{HaropHun A.l. 5 151|NB6-92mH 84,778
Nb6-92mn
.}
G
T
]
Ne CrypeHr KYPC 2
=
(]
: -
o CepeaHiu
ban
1{Bineubknii N.B. 5 151({NB-92mn 88,333
2|Kapnywesa A.T. 5 151|NB6-92mn 94,889
3|KocTiubkut M.O. 5 151|NB6-92mn 82,111
4|Manamapyyk A.C. 5 151|NB6-92mn 95,333

NB-91mn




CneuianbHicTb

Ne CrypeHT KYPC
CepepHin
ban
3|KantoxkHa B.B. 5 152({MNB-91mn 95,000
7|Meprkunescbka 4.10. 5 152|{NB-91mn 90,556
11| WopiH A.l. 5/ 152|NB-91mn 85,889
12{lyminiH A.T. 5/ 152|NB-91mn 92,222
nr-9imu
o]
G
E-
o]
Ne CrypeHt KYPC 2
=
T}
&
CepepHin
ban
nr-aimn
o]
G
T
n
Ne CrypeHr KYPC e
=)
(]
&
CepepHin
ban
5|Ko63ap B.B. 5/ 151|Ar-9imn 92,500
6|/lewyk M.C. 5 151|{1r-9imn 94,500
MNK-91mH
o]
G
T
o]
Ne CrypeHT KYPC 3
=)
(]
[ =
o

CepepHin




ban

1|bapaHoBcbkui [.B. 5/ 151|NK-91mH 89,778
NK-91mn
0
G
T
]
Ne CrypeHTt KYPC 2
=
(]
[ =
o
CepepHin
ban
1|/laryTiH €.B. 5 151|NK-91mn 75,667
2|HoweHko C.I. 5 151|NK-91mn 79,111
3[PomaHtoK T.A. 5 151({MNK-91mn 86,222
5/CtopoxkukK [1.B. 5 151|NK-91mn 90,222
6/Tacax B.C. 5 151({NK-91mn 83,333
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MM-91mn
0
G
T
]
Ne CrypeHr KYPC 3
=
(]
&
CepepHin
ban

MH-91mn




CneuianbHicTb

Ne CrypeHT KYPC
CepepHin
ban
1|ApTtemuyK B.I. 5 152|NH-91mn 93,556
2|benbebkuin O.C. 5 152|NH-91mn 77,222
9(/lyueHko K.B. 5 152|NH-91mn 89,000
11{Mewkosa K.O. 5 152|NH-91mn 91,667
NO-91mH
]
G
I
Ne CrypeHr KYPC e
=
Q
5
CepepHin
ban
1|ABAENOHOK |.I. 5 151|N0-91mH 94,000
NO-91mn
]
G
I
Ne CrypeHr KYPC e
=
Q
5
CepepHin
ban
1|bactok I'.11. 5 151|010-91mn 84,889
No-92mn
]
G
I
Ne CrypeHT KYPC 3
=
Q
5
CepepHin
ban
2|Pepopeub O.B. 5 152(N0-92mn 69,667




